
















































































YEAR 2022 

LEVEL PRIMARY 4 

SCHOOL: HENRY PARK PRIMARY SCHOOL 

SUBJECT: SCIENCE 

TERM END OF YEAR EXAMINATION 

(BOOKLET A) 

Q1 1 Q2 1 Q3 4 

Q6 2 Q7 3 Q8 3 

Q11 3 Q12 3 Q13 3 

Q16 1 Q17 4 Q18 2 

Q21 2 Q22 2 Q23 4 

Q26 3 Q27 4 Q28 3 

(BOOKLET B) 

Q29 

toptllo 

Q30 a} The raincoat does not absorb water. 

Q4 

Q9 

Q14 

Q19 

Q24 

b) The raincoat is made of a waterproof material. 

Q31 a) Rubber is a non-magnetic

b) Magnet B was repelling magnet A.

2 QS 3 

1 Q10 2 

3 Q15 3 

3 Q20 1 

1 Q25 3 
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Q32 



Q33 a) 

b} 

c) 

Q34 a) 

b} 

c) 

d) 

Q35 a) 

b) 

c) 

Q36 a) 

b) 

c) 

Q37 a) 

b) 

Q38 a) 

b) 

c) 

Q39 a) 

b) 

Q40 a) 

b) 

c) 

� �� 
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Fungi 

There is moisture on the log causing the fungi to grow on it as it only 

requires water and warmth 

They have three stage life cycle. 

Animal Q look nymph looks like the adult while Animal P does not. 

Insect. They have six legs 

So that some of the eggs would hatch. 

System A : Skeletal 

System B : Circulatory 

Windpipe 

Helps you inhale oxygen and exhale carbon dioxide. 

As the number of coils of wire increases, the strength of electromagnet 

increases. 

0. As there are no current flowing through causing the affect to attract

any steel clips

The barrier would go up as the electromagnet magnet is on causing the 

steel bar to be attracted. 

Air is occupying the space between the marbles. 

The water level will rise and the water will flow out from the spout into 

the container. Therefore, the water in the container will be equivalent to 

the volume of the rock. 

Temperature is a measurement of how hot or cold an object is. 

Repeat the experiment two more times. 

T. It has the lowest temperature after 15 minutes. Because the poorest of

heat conducts heat slowest from pot to hands prevents hands from being

burned.

X absorbed the most amount of water. It is the most absorbent so it can

absorb the most amount of water.

To ensure that the thickness of material is. The only thing causing the 

difference in results. 

Position of puppet A: 3 

Position of puppet B: 2 

Shadow of A is smaller than Shadow of B. A is further from the light source 

than B. 

No, The screen was to allow some light to pass through for the shadows to 

be seen by the audience. 






